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& B i R 43 42 85 14.4 70.6

RS AAR = B 42 41 83 12.0 71.0
3z BR Bx B 39 47 86 14.4 71.6
A1 IO =4 R 45 49 94 21.6 72.4
511 EBE %KE R 45 48 93 20.4 72.6
6L N F BT B 42 44 86 13.2 72.8
711 g =B B 43 43 86 13.2 72.8
811 47 51 98 25.2 72.8
iz il R1T B 44 47 91 18.0 73.0
1013z fEBE  —HBR B 40 38 78 4.8 73.2
1143 42 42 84 10.8 73.2
12131 EBE B3 B 45 38 83 9.6 73.4
1311z 'R = Bk 49 40 89 15.6 73.4
14431 44 45 89 15.6 73.4
15111 EBE Bk B 42 40 82 8.4 73.6
1611z BRE —It B 47 41 88 14.4 73.6
171 49 45 94 20.4 73.6
1811 38 37 75 1.2 73.8
19131 TR TTE B 43 44 87 13.2 73.8
2011 BR E— B 44 42 86 12.0 74.0
21111 BR HE B 44 42 86 12.0 74.0
22111 iy 15— B 39 40 79 4.8 74.2
23111 BiE FH Bk 39 46 85 10.8 74.2
24011 BE KT B 46 39 85 10.8 74.2
251 EaeR & B 41 44 85 10.8 74.2
26111 Ef &= B 45 46 91 16.8 74.2
27111 BE A B 44 47 91 16.8 74.2
28111 BR EX B 42 42 84 9.6 74.4
29111 BR &S B 42 42 84 9.6 74.4
30 BIE B 44 46 90 15.6 74.4
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3114z 2R BT £k 51 51 102 27.6 74.4
3211 =8 A £k 39 44 83 8.4 74.6
331z = R £k 42 41 83 8.4 74.6
3441 FE H £k 42 41 83 8.4 74.6
3541z 45 38 83 8.4 74.6
3611z S8 HRER £k 40 43 83 8.4 74.6
3741 FAIER =7 £k 45 44 89 14.4 74.6
381z B4R R £k 50 45 95 20.4 74.6
3911 gL & £k 40 42 82 7.2 74.8
401z 43 45 88 13.2 74.8
4141 =aE #% £k 44 44 88 13.2 74.8
4241 BB Ul £k 41 47 88 13.2 74.8
431 BAIER i Bk 38 43 81 6.0 75.0
A4f1 T= ) £k 46 41 87 12.0 75.0
451 (s - Kk 52 47 99 24.0 75.0
46111 41 45 86 10.8 75.2
ATHI g2l == Kk 46 46 92 16.8 75.2
481 kB Bk Kk 49 43 92 16.8 75.2
491 A H £k 51 47 98 22.8 75.2
5011 EBE EE B 48 50 98 22.8 75.2
511 AOH HR Kk 41 38 79 3.6 75.4
52111 T B=E £k 38 41 79 3.6 75.4
531iL BE FZ Kk 42 43 85 9.6 75.4
Yiiva T BE £k 53 50 103 27.6 75.4
551 R =R £k 39 45 84 8.4 75.6
561iL B Kk 45 45 90 14.4 75.6
b71iL BiE —% Kk 43 47 90 14.4 75.6
58I 51 % Kk 52 44 96 20.4 75.6
591z s IfEEC £k 49 47 96 20.4 75.6
601z NEFE B £k 43 40 83 7.2 75.8
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6111 INEFEF AR £k 40 43 83 7.2 75.8
6211 NG £k 42 40 82 6.0 76.0
6311 TE RE £k 54 52 106 30.0 76.0
6441 R % £k 55 51 106 30.0 76.0
6511 BIES S ALE £k 46 47 93 16.8 76.2
6611 HEE A £k 46 47 93 16.8 76.2
6711 &7 BEE £k 48 45 93 16.8 76.2
681iL H R3E k& 46 47 93 16.8 76.2
6911 FE B £k 50 49 99 22.8 76.2
701z NMEr B £k 48 51 99 22.8 76.2
7141 AR KT k& 43 43 86 9.6 76.4
72141 BE W £k 45 47 92 15.6 76.4
7311 ] = £k 48 44 92 15.6 76.4
7441 B EE Kk 47 45 92 15.6 76.4
7511 WL £k 49 43 92 15.6 76.4
7611 2l =R Kk 49 55 104 27.6 76.4
TTHI B SF Kk 42 43 85 8.4 76.6
7811 i LAY Kk 47 44 91 14.4 76.6
7911 A B £k 49 48 97 20.4 76.6
801z TE E £k 48 49 97 20.4 76.6
8111 BR RE £k 42 48 90 13.2 76.8
8211 a4 R £k 45 45 90 13.2 76.8
831ir TR BiE Kk 41 42 83 6.0 77.0
84431 L8 E#E Kk 47 42 89 12.0 77.0
851iL 50 45 95 18.0 77.0
861z INEE 2T Kk 47 47 94 16.8 77.2
871iL NG 3 = Kk 44 43 87 9.6 17.4
881iL BiE Bk Kk 47 46 93 15.6 17.4
8911 BiE E& £k 40 46 86 8.4 77.6
9041 E OEZ B 42 44 86 8.4 77.6
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911z YRR B 50 48 98 20.4 77.6
92z P BES B 41 44 85 7.2 77.8
9311z =iE e £k 43 42 85 7.2 77.8
9441 EBE X B 43 48 91 13.2 77.8
95111 WA 3k B 53 50 103 25.2 77.8
96111 =% B 46 44 90 12.0 78.0
97z prIER B B 48 48 96 18.0 78.0
981 EE RE B 51 45 96 18.0 78.0
99z EBE B 51 51 102 24.0 78.0
1001z BB A B 41 47 88 9.6 78.4
1011z EBE E— B 45 49 94 15.6 78.4
1021 B KES B 46 53 99 20.4 78.6
10311z 45 47 92 13.2 78.8
10441 hNg BT B 43 47 90 10.8 79.2
105fiz FE B B 53 53 106 26.4 79.6
1061z Il F B 48 45 93 13.2 79.8
1071z 38 HHX B 50 49 99 19.2 79.8
1081z FE =R B 48 51 99 19.2 79.8
10911z 54 50 104 24.0 80.0
110fiz hEE AT B 51 53 104 24.0 80.0
1111z HE Mx B 59 51 110 30.0 80.0
11211 EAR = B 50 53 103 22.8 80.2
11311 48 54 102 21.6 80.4
11441 BR E— B 52 52 104 22.8 81.2
11511 BR B B 46 45 91 9.6 81.4
11641 EH Y =3 59 56 115 33.6 81.4
11761 il B 52 50 102 20.4 81.6
11811 ®EE —= B 48 52 100 18.0 82.0
11911 B BT B 55 51 106 22.8 83.2
12011z BB #= B 50 48 98 14.4 83.6
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